BF100m 11— X
#OH R R B
ek IR e

3H1H 10:30 #4AhV—%

B{AVv-%  19#H

148 (R.:-0. 2) 2%H (R:+0. 3)
NEfE V= Fun' = K4 iz FLfk  2pvb NG V= fun = KA iz Fofk 2pvb
i JR [11.134]
1 5 4362 fRHMEA JE T e 10. 96 1 6 7-2089 SEAEAHE(1) NN 11.14 *TK
[E] i) [11.139]
2 6 4676 &R CFKREE 0OPC 11.08 2 5 1691 KHTIKE (2) JEARE ALK 11.14 *TK
s [ii}s]
3 7 1690 FEHEEPEM(2) JEA ALK 11. 09 37 72348 WIHE PE(2) LA EERER 11.17
= iTs|
4 3 72086 WP RN JLEKE 11.15 4 8 4561 EEIWN H)- 11. 21
[iis] [ii}s]
5 2 71100 i M&FHG)  EIAEKR 11. 26 5 4 1712 REHEZE(D) JEARE ALK 11.35
[Iigs] 1] [11.584]
6 1 1711 fEHarE Q) JE ALK 11.34 6 2 4424 THIBEE - 11.59 *TK
il INs] [11.586]
7 8 157 &M EA JEFLHRic 11. 54 703 3394 HFk 5:(6)  IMKEFHE 11.59 *TK
N I LI
4 1103 HE FEKQ)  ®)FREE DNS 8 1 1056 =K (2 [ | L1 PRk R 11.65
3% (8:+0. 6) 4% (8:-0.8)
NEQL V=Y Fun - K4 i fiaE s PN NEGE V= Fun' = K4 iz RLEk  2Avb
S Ty
1 3 1983 /KAER (2) MEZ—L— 11.39 1 6 4422 JbkFEEtA - 11.66
o 1]
2 5 7-2203 ZE  ANKAS(L)  [LHK 11.53 2 3 1715 ACKIRAL (D) JERR ALK 11.97
o ]
3 4 72202 TBAH OWEEON)  JUBRX 11.55 3 1 1688 /B (2) JEFEZNNT K 12. 06
o 1]
4 6 72295 PEA FERA(1) (LK 11.58 4 2 31 P B2 E 12. 08
o 1]
5 1 4447 AL =ik HH S BLPE 11.75 5 5 1135 | AW &) R = 12.09
o 1]
6 8 1134 HEA KM @&IIZFERE 11.82 6 8 8185 T #® I95 5 h 2 fh 12. 11
= iiys|
72 72093 FEJFEICFE (1) PPN 11.86 7 7 3335 HEE L) FHEH 12.21
18 ] iiys|
8 7 3243 JFH  HESL A8 ] s 11.90 8 4 203 HJFFIER HCS 12.39
5% (8 -0. 4) (3332 (8L:+0. 4)
NEGE V=Y Fun = K4 i FLEk  2Avb NEQL vy Fun' - K4 i RLEk  2Avb
TS| S B
1 6 32 Jy #I©2) HZE 12. 04 17 7-1396 SR seK@)  JKEKE 12.30
1N} ] iigs] [12.316]
2 4 751 Wk FaFE Q) EiFF 12. 15 2 3 589 MW FE©Q) M 12.32
[Iigs] [12.235] iigs]
31 72207 B B JBOK 12. 24 *TK 3 2 238 #epE EHEQ  EMT 12. 47
= [12. 238] i)}
4 3 7-2350 AR B (M1) IR IR 12.24 *TK 4 4 5167 A AT I3 Jf T3 e fh 12.51
N iiys|
5 5 7-1660 fEA  BEHK(B2) JRETNK 12. 29 5 8 190 # ZKEg(3) 1L HAFSL 12.59
[Iigs] [12.319] iigs]
6 2 33 AL #I©) HE 12.32 6 1 1348 #k K@ @l 12. 64
[11]s] iiys] [12.784]
78 178 i CHE(Q) 13.31 7 5 200 [HHRE HCS 12.79
S o
71984 JI=EERAF(2) #FAi—L— DNS 8 6 182 fhH KFfn(2) s 14. 52

JFL5] DNS:Ri5 *xTKBEZHY *T2L—UBE DQ:KE
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TH#A (R:+1.1) SHH (R.:+0.5)

NEfE V= Fun' = K4 iz FLfk  2pvb NG V= fun = KA iz Fofk 2pvb
[iips} [ii)s}

13 607 AR HAEQ) it 12.17 1 6 1475 &y #HQ PE I 12.95
[iips} [ii)s}

2 6 333 WiH MO RIFT 12.77 2 3 755 (UM AEk(2)  PEIEET 13. 02
s [12. 790] i)

3 4 5124 FEE G o5 )6F 3 e b 12.79 3 8 116 kM ¥E(6) KiEpe b 13.32
[iis] [ii}s]

4 5 25 4t Hae N TFRspmbE b 12. 82 4 4 616 &TER 5 i B fh 13.33
[iis] [ii}s]

5 8 93 HiE ()  FAE 12. 87 5 1 960 4 IKEL(2)  ETWH 13.58
[Iigs] 1] [13.626]

6 2 96 fex A BER(2) PHIEH T 12. 89 6 2 970 W R=—@) &TFWE 13.63
[iis] [ii}s]

77 603 AR HBEKEO  #HT 13. 14 5 768 & KHF(© TBI%E )1 DNS
[iis] [ii}s]

1 520 #ixAk BKER() ERFT&F DNS 7 1250 MAKHE R @ &HTWH DNS
OfH (.1 +0. 9) 10#H (L +0. 3)

NEQL V=Y Fun - K4 i fiaE s PN NEGE V= Fun' = K4 iz RLEk  2Avb
Lo 15|

1 4 26 S R (D) FRasgkE - 13.37 14 380 k) AEMEQ  EELTP 13.25
o 1]

2 5 1347 iE  RK Q) JELF 13. 46 2 5 97 AR FEK(2)  PEIERE 13.42
[Iigs] [13.629] iigs]

3 2 426 AR KFn(6)  EEREE 13.63 3 3 955 /N f&BH(Q2) &I 13.69
1N} ] iiys] [13.800]

4 8 384 EiL HiMEQ) L 13.70 47 494 JIH EEO)  ERFF 13.80
o 1]

5 6 547 HEF  H(6) R 13.79 5 64479 DUfE A U5 5H® HRC 14. 18
[Iigs] [13.799] iigs]

6 7 628 ffEAR KME(6) HEILRC= kv b 13.80 6 8 971 M mE (@) A&TFWHF 14. 51
o 1]

71 8% HA EEREQ  &FWHE 14. 12 7 2 570 R EHEGB)  <HhdkEE 14. 55
o 1]

3 527 M L6 S oFREL DNS 1 67 Fiik HEHIQ) SLofkEE DNS
11#H (:-0. 9) 12#H (L:-0. 2)
NEGE V=Y Fun = K4 i FLEk  2Avb NEQL vy Fun' - K4 i RLEk  2Avb

[Ty, 15|

1 3 302 HF MEFH(6)  fELRC= % v b 13.98 16 492 yA RES (D) BHH 14. 37
Lo T

2 6 422 PEEF (D) TR 14. 08 2 4 526 ¥E f#(®) 5L o fhEE 14. 90
Lo T

3 2 204 WBEF OWHGB)  wElRc=F v b 14. 22 3 5 483 JH #ki(6) S<ofkE 15. 04
Lo T

4 7 332 JHH tEE ()  fElRca Xy b 14. 58 4 1 539 K U  SL<orkEE 15. 26
Lo T

5 5 153 R BB (4)  FrasRkE L 14. 88 5 2 307 W SE(6)  ELRC=F v b 15. 34
Lo T

6 1 358 =4 ZER(5) EAFT&F 15. 52 6 8 565 Kk #®EKU) S<o7fkE 15. 38
[iips} [iifs]

4 437 JEH KH(6) =Ty MK DNS 7 7 594 B ®&(5)  fElRcax vy b 15. 70
[iips} [iifs]

8 1395 /= FE((2) SL<oTkEL DNS 8 3 405 [UF #&ELG)  KEkEk 15.71

JFL5] DNS:Ri5 *xTKBEZHY *T2L—UBE DQ:KE
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3H1H 10:30 #4AhV—%

B{AVv-%  19#H

1348 (-1 1) 1448 (8:-0. 1)
NEfE V= Fun' = K4 iz FLfk  2pvb NG V= fun = KA iz Fofk 2pvb
[iips} [ii)s}
1 5 142 I WE3F(6)  FREBREL 15.21 1 5 691 HMEAR LHi(4) AFeBx 15.53
[iips} [ii)s}
2 8 555 JFH E(4) < oL 15. 51 2 4 620 /NE 1 (5) [IGEEAN 15. 77
s [15.816] i)
3 1 238 #EAk —Hx(6) RMkeE 15. 82 3 3 149 AF smA(6) TREEEEL 15. 80
[iis] [ii}s]
4 7 489 Fx Eif(6) 5l oThEL 16. 00 4 8 556 AR MR(4) S<oTREE 15. 81
[Iigs] 1] [15.814]
5 6 522 #ExRK EF@) EAITEF 16. 28 5 2 621 fRHMEK}(5)  @mElRc=a %y b 15. 82
s [16. 398] i)
6 2 514 kil & (6) < Bk E 16. 40 6 7 251 Aff f&TE(5) (LI AFSL 16. 45
[iis] [ii}s]
7 3 603 WY LK@ BiikEE 16. 70 7 6 618 A K{[(B) vazy ik 16. 60
[iis] [ii}s]
4 248 @il w5 (6)  [LHAFSL DNS 1 104 = () Kk DNS
15%8 (.:-0. 4) 16%E (8:-1.0)
WESL V= o - Ee4 il kv JEAL V= Jun - K4 il Gk apvh
Lo 15|
I 4 138 k@A MEEHA)  TFREBEE 15. 62 I 4 593 KM #Eidr(5) #lRc=%)y b 16. 06
1N} ] iiys] [16.178]
2 5 624 HtEr EKQ)  FAGKIE 16. 02 2 8 259 NH MWK (5)  KiEke L 16. 18
o ]
3 3 194 {#E AnE ()  MERC= X b 16. 15 3 1 595 ZJEMIKAR(5)  #ElRc= % v b 16. 25
1N} ] [16.177] i) [16.395]
4 8 540 UK K@) HL<oTFREL 16.18 4 2 362 ¥ BEZE(3)  ELRC= v b 16. 40
o 1]
5 1 327 AK k@) sElRC=k v b 16. 36 5 5 342 HE BHEQG)  ELRC= kv b 16. 52
o 1]
6 6 494 =5 KB (3) EAHT&F 16. 53 6 7 687 |UAR fkiE@) AR 17.82
o 1]
77 236 kI BEEE(2)  [LEFSL 16. 57 6 448 FEAR WEHGB)  vaxy bk 12,00
o 1]
2 459 L EiEG) S o kR DNS 3 705 v avera mr@  JHEBANR DNS
17#H (B\:-1.5) 18%H (L +0. 4)
NEGE V=Y Fun = K4 i FLEk  2Avb NEQL vy Fun' - K4 i RLEk  2Avb
[Ty, 15|
1 5 390 75k #t(6) AT T&F 16. 12 17 140 XkA ANE(Q2)  TFHSpEkEE 17. 04
Lo T
2 6 313 WE HAt4)  HIRC= kv b 16. 89 2 4 228 fERE =) FEIIRCT R » b 17.72
Lo T
3 4 515 KEE F£((B3) JLUHOFSL 17.31 3 2 371 Bl $kK(@B)  #ELRc= kv b 17.91
Lo T
4 2 308 Af EKEH(6) MELRC= X v b 17.35 4 5 196 BRI BEREB) Tk L 18. 17
Lo T
5 7 295 KM kELGB) JFAGEE 17.93 5 3 289 [UF #(2) KiEpkEk 18. 44
Lo T
6 8 633 RS HE6) ArfEpx 17. 96 6 6 187 {FiE HEA(4)  TRAHEHEEE 18.70
[iips} [iifs]
71 186 BFIK iEA(4)  TAAHHEE L 17.99 78 217 RE EEG) FEBRIE 19. 58
iips}
3409 TR fERKMA) < bhidkER DNS

JFL5] DNS:Ri5 *xTKBEZHY *T2L—UBE DQ:KE



BF100m FE1L—R

FOW M A
REEME : RS H

3H1H 10:30 J{hv=%

B{AVv-%  19#H

ZA LV —R EABAL

194 (A\:-0.7)
WELE V= - K4 e FLfk  2Avb
N
17 1321 W KE KR~ A8 =X 15. 36
[iis]
2 2 419 FHDEIE6) AR 15. 66
[iis]
3 5 105 ZH fEEk() TR L 16. 31
s
4 8 478 AHRAEZE @ AR 16. 50
[iis]
5 6 588 AR K4EMU) vazy 18. 05
[iis]
6 4 219 ZH (1) FREBREL 18. 20
s
3 706 v srrr 740 JFABRIE DNS

JFL5] DNS:Ri5 *xTKBEZHY *T2L—UBE DQ:KE

JIEAT FUN = R4 iz Fofk R aAvh
[ii)s}
1 4362 fREHEA JE T 10.96 -0.2
[ii}s]
2 4676 @A FFREF OPC 11.08 —0.2
[ii}s]
3 1690 7 ERpEm-(2) JEARE ALK 11.09 —0.2
VS B *TK
4 7-2089 JEAE A (1) NS PN 11.14 +0.3
i *TK
5 1691 KHTIRE (2) JEARE ALK 11.14 +0.3
=
6 72086 T REA)  JKEKE 11.15 0.2
[ii}s]
7 7-2348 HIH: PE(2) I SEEYSPN 11.17 +0.3
[ii}s]
8 4561 EE T H)- 11.21 +0.3




BF100m FE2L— R

FOW M A
REEME : RS H

3H1H 15:00 J{hV=%

§{hv-x 5
1¥ﬁ (m:-1.3)
NELE V= Fun' = K4 e FLfk  2pvb
[iips}

1 4 4363 SRHMEA JE T e 10. 99
[iips} [11.027)

2 6 1690 FHEREM(2) AP 11. 03
s

3 5 4676 &A FKREE  0OPC 11.12
[iis]

4 7 1100 R CKAG) FEIREER 11.28
[iis]

5 8 1711 f&EHarE Q) AP 11.32
il

6 1 157 &M EA JEJuMIRic 11.70

=

2 11466 HF WEEG)  JAEBKE DNS

[iis]
3 1103 BHE Fk(@)  ®)IFREE DNS
3% (. +0. 1)
NEQL V=Y Fun - K4 i LY
[iips}

1 5 1113 kA FOB) R PRI 11.74
1N} ] [11.829]

2 6 1715 ACKIRAE (D) AP 11.83
[iips}

3 3 8185 T [55 £ h1 F22 b 12.03
[iips}

4 2 751 #ks FZEQ) ET 12. 14
[iips}

5 4 32 AW FH@) HAE 12. 30
i

6 7 C3048 tadE  fwEA(3)  fE[EJRC 12.33
[iips}

71 607 MR Q) MR 12. 40
[iips}

8 8 589 M FEz(2) M 12.53
5%H (E:-1.1)
NEAL Vv=r Fon' - K4 EiE! FLEk  2Avb

1N} ] [11.823]
11 1134 MR KO  &IZEES 11.83
[iips}

2 4 309 tEm %(5) ILRCT % b 16. 25
[iips}

3 7 390 ik #(e) AFT&F 16. 35
[iips}

4 6 620 /NE 1 (5) FIIRCT R » b 16. 37
[iips}

5 3 4573 REEEBE ks, 57 16. 60
[iips}

6 8 371 fEH #K(B3) HELRC=k v b 18.21

iips}

7 2 308 HAA JRAKHI(6) ELRC k. b 18. 26

iips}

5 409 TR fERKMA) < bhidkEL DNS

JFL{5l DNS: k15

2%H (\:-0. 8)
NG V= fun = KA iz Fofk 2pvb
[ii)s} [11.025]
1 5 1691 KHTIKE (2) JE ALK 11.03
[ii)s}
2 4 12348 WIHE DE(2) I SEEYSPN 11.20
I LI
32 1043 EM #®©) [ | LI PRk R 11.23
[ii}s]
4 3 1712 KEHEZEQ) EEANPN 11. 44
[ii}s]
5 6 7-1959 &7 B—E3() hnok 11.48
I LI
6 7 1032 R Fod(4) [ | LI PRk R 11.51
I LI
11056 =K ¥t (2) [ | LI PRk R DNS
I LI
8 1045 JEH #HEQB) [ (L P K DNS
4% (1. 2)
NEQL V= Fun - K4 iz RLEk  2Avb
ii)n}
1 1 1688 /IMIBEA (2) JSEEANSN 12. 04
ii)n}
2 6 603 Af HEKEOQ  #HT 13.15
ii)n}
3 3 3637 KEFHER s R b 13.50
ii)n}
4 4 616 &R [55 Jf 3 e 13.69
ii)n}
5 7 4575 FHE fi— Wk 5 7 14.37
ii)n}
2 570 WK EFEG) < HFREER DNS
ii)n}
5 5124 JER 85 Jf 3 e bh DNS
ii)n}
8 514 kil & (6) < BT R DNS
Z A AL —R _BAL8HL
JIENT Fun - KA i gk B apvb
ii)=}
1 4363 A JE F T 10.99 -1.3
ii)=}
2 1691 KHIXEL (2) JEARIANER 11.03 -0.8
ii)=}
3 1690 # ke (2) EEEANFN 11.03 -1.3
ii)=}
4 4676 A CFEREE OPC 11.12 -1.3
ii)=}
5 7-2348 I P (2) IsE:lEPN 11.20 -0.8
I LI
6 1043 EF9 #(3) fi] | L1 PRk K 11.23 0.8
[ii]s}
7 7-1100 TR fEFI(3)  EIEKR 11.28 -1.3
[ii]s}
8 1711 fBFHARE (D JEARIANER 11.32 -1.3




B F200m

FOW M A
REEME : RS H

3H1H 13:35 J{hv=%

B{BV-% 4%
150 (A:-0. 8) 2%H (J&.:0. 0)
NEfE V= Fun' = K4 iz FLfk  2pvb NG V= fun = KA iz Fofk 2pvb
TR 15|
15 72086 YT R JAHKE 22. 09 17 4422 JbKFEERA H- 23.35
[iips} [ii)s}
2 3 7238 M DE(2) LA ERK 22. 60 2 6 4447 HLTEIR Hi e Bl 23. 77
ST iTs|
3 8 1983 /IMRARER (2) MEz—L— 22.74 34 72007 BEI O BEQ)  JWBPK 24. 29
[iis] [ii}s]
4 4 11834 HEAR KA @RS 23.11 4 3 33 R FQ©) HE 24.93
18 [ iTs|
5 7 157 &M EA JEFLHRic 23.31 5 1 589 MW Fm(©Q) HiHF 25. 68
iifs] ST
6 1 1135 H& &HQ) s 23. 69 2 1984 JI=EERAR(2) #hiFzx—L— DNS
[iis] [ii}s]
2 4561 EEHI H- DNS 5 1688 /IS K (2) JEFENNER DNS
= iTs|
6 7-1395 kT B33 KEBKRE DNS 8 7-2288 {W[ff fKIK ML) LK DNS
3% (8:+0. 9) 4% (:-1.6)
NEQL V=Y Fun - K4 i fiaE s PN NEGE V= Fun' = K4 iz RLEk  2Avb
= Iiys|
1 5 649 {4 AHBE(23) ¥R 77 26. 11 1 6 380 kS AEMEQ  EELTP 27.35
o 1]
2 3 25 &k HxA() FREBMHEE 2617 2 5 1475 HH F Q) VY 27.37
o ]
3 4 333 HiH 40  EHEY 26. 57 3 3 89 HA EEW® ATFWHF 28.71
o 1]
4 7 960 &fE &KE(2) &MWL 27. 80 4 4 971 M BER @) ST 29. 93
o 1]
5 8 5560 KA g2 L O TR b 27.97 7 67 Fak EBEHOQ  SL<oFkELk DNS
[iips}
6 6 970 W =@ &mTFWTF 28. 05
[iips}
72 1347 E RK Q) JELF 28. 45
H A AL —R EN8HL
BT fyn - K4 i ek R 2pvb
N
1 72086 T =) JKBEKE 22.09 -0.8
[iips}
2 7-2348 HIH P (2) =gt SN 22.60 -0.8
B3
3 1983 /IMPRARER (2) HEZ—L— 22.74 -0.8
[iips}
4 1134 HEA KO @RS 23.11 -0.8
18 ]
5 157 #ZH EA JEJudhRic 23.31 0.8
[iips}
6 4422 JEFFEERG H)- 23.35 0.0
iips}
7 1135 mft & T 23.69 -0.8
iips}
8 4447 S LEIR Hi Ot BiLpE 23.77 0.0

JFL{5l DNS: k15



B+400m FH1L—R
FOW M A
REEME : RS H

3H1H 09:30 §{hV=%

B{hV-% 2%

148 2%

NEfE V= Fun' = K4 iz FLfk  2pvb NG V= fun = KA iz Fofk 2pvb
i 11 15|

17 1066 =K Hth (2) fie] (L PSR K 50. 96 17 4416 #hiE % H- 56. 43
[iips} I

2 4 72209 B BHYAE() iRk 53. 42 2 5 3326 AfE VEG)  FEEE 57. 11
s ii)n}

3 5 333 FHE AL() FHEE 54. 39 3 6 955 /P IKEE(2)  m T 1:00. 62
[iis] ii)n}

4 8 4424 FHIBH - 54. 67 4 4 4631 MK EMikEd  1:12.24
[iis]

5 6 4431 EARWK - 1:00. 92

B A 5 L—R _EAr8fHr

[II5thA fyn - K4 i FLEk 2Avb
[

1 1056 = A FEth (2) fi] (L PSR K 50. 96
[iips}

2 72299 S EHiR (1)  [ipKk 53.42
[iips}

3 3335 AE AR (U)  FEEE 54. 39
[iips}

4 4424 FTH B KR - 54. 67
[iips}

5 4416 #pfE B H)- 56. 43
[iips}

6 3326 AF E {EFEG)  FEHESE 57.11
[iips}

7 955 /N &R mTFILH 1:00. 62
[iips}

8 4431 ‘EARRRR - 1:00. 92




BF400m FE2L—R

FOW M A
REEME : RS H

3HLIH 14:10 & B

*r B
WELE V= Fon - K4 e FLfk  2pvb
[iips}
1 6 1113 kA FOG) RueE i) 50. 88
[iips}
2 4 965 HA ML) &EmTFWLE 1:00. 08
s
5 1135 mft A Q) )1 [ DNS

JFL{5l DNS: k15



5 F800m

= R gH B
R AT IRER BB

3H1H 12:10 #{hV—2

B4hv=2  10%H

L 248
NERE Vv=y Fvn - A F)j)% Aidk A/l NEAE V= dun - K4 [Bilz Aofk AL
1 6 7-1386 FBF  fEIk (4) );:“%l%ké% 1:56. 26 L7 122 FRil W54 (6) zufn%@xjh 2:21. 46
2 7 1714 L) J%%/Aﬁj: 2:00. 06 2 5 4900 EAR IE¥E sitrrlhliﬁ%}y 2:24.78
3 8 2060 Az ARfkdh1) J%%/Aﬁj: 2:00. 82 3 3 9 =iE IEE(6) SJ‘:ThKﬁXT 2:27.53
4 4 71-1095 HERK  AHEAT(3) %Tﬁﬁﬁﬁk 2:02. 71 4 2 521 HE #f(5) gjziyw{ 2:31.39
5 3 71397 EiE Bk (@) i“%%j:ﬁ'; 2:04. 08 5 8 959 HIE () HJ.%T;MEP 2:40. 02
6 1 190 HA JKE@G) ILJJJJrIlIFSL 2:04. 26 1 484 /= FE{(6) EZOT@L DNS
72 34 W FE%(2) EE 2:07.49 4 1395 /hEE FE((2) EZOT@L DNS
5 7-1096 fEBE  ARKF(3) %Tﬁﬁﬁﬁk DNF 6 1355 Pyl EYR(Q2) ;;Em: DNS
3#H 4%8
QL V= v - K4 BIE] Fodk Vb NEE V= fyn - K4 ] Fofk aAvh
L 5 26 B MR (D uljfzﬁ%ﬂﬁj: 2:16.58 1 6 242 /b #H4(6) %%I&%@L 2:32.93
2 6 307 HE NPE(6) gjrzc:zw 2:24.61 2 4 226 Kit %E+(6) %%I&%@L 2:34. 45
3 3 612 iy H[E(5) ?ﬁ?ﬁr%@ﬁ 2:33.71 3 7 450 t&E &N (6) E?EH@L 2:45.75
4 8 1 R K& 6 i?ﬁ@xf 2:34. 41 4 3 197 /N FE(6) ;;?%&%@L 2:46. 27
5 4 613 R KB G5) ?ﬁ?ﬁr%@ﬁ 2:35.19 5 8 149 A& FmA(6) uﬁ‘f;ﬁ%@ﬁ 2:49. 20
6 2 215 EH Ji(5) ?ﬁ?ﬁr%@ﬁ 2:35.59 6 2 238 #ik —5(6) E?EH@L 3:00. 27
7 1 539 iAf FREE @) i?o%ﬁﬁj’: 2:38.39 L 884 BpfT #EZE(D HJ.%TE!FWLEP DNS
7161 HF #(5) im‘é?rﬁ@xfﬁ DNS 5 108 kH IHIE©2) %iﬁiﬂim DNS
54H 65%H
NERE V= Fvn = KA B Fofk Vb JERE V= Fun - R4 B Fofk apvh
= T
1 8 4632 #IU Ak FMmiketh  2:21.70 I 4 434 \UF YRK(G) HrabskE . 2:43.30
2 3 426 Hhk KFn(6) %?FH@J: 2:32.88 2 5 624 Bt EKEO) J%EE&W)E 2:49. 14
3 6 495 H#E FE%(6) i?i% 2:41.59 36 223 N ZM) i;?%r%@ﬁ 2:52. 41
4 4 457 AR ZU(5) %%JAC 2:42.78 4 8 684 AF #kA(5) ;”rfil% 2:58. 00
5 1 611 M EA®G) ;DFEFE}@L 2:46. 30 5 1 239 FHE PO i;?%[%@ﬁ 3:00. 14
6 7 458 =% K (5) %%JAC 2:50. 71 6 7 224 HAR PREB(4) i;?%[%@ﬁ 3:05. 84
7 5 610 KEE FF(5) ;DFEFE}@L 2:51.45 72 139 EHE @ i;?%[%@ﬁ 3:15.87
8 2 603 HH D@ g?ﬁé‘lﬂ%k 3:03. 31 3225 b &K@ ;j?%ﬁ%lﬂ%i DNS

JL{5l DNS:&R35 DNF:ik hZEHE
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